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Math 112
Derivative Skills Practice Answers

dy 1 _2 1 _a

de 30 77307

dy (97 +7)(z — 4) — (27 — 42)(9)

dr (9z +7)2

% (x+2)%6(x+3)° (1) + (z+3)5 8z +2)" (1)
dy 3.z

a2 (‘ﬁ )

dy _ (9—42)3(1) — - §(9—4a) "2 (—4)

dz ((9 —4z)2)?

dy 3 1

== LU+ 275 22) + (14277 - (1)

dy 1\ -

dx 7( x> (1 )

Zz (22 1 6)2 - 83z — 7)7(3) + (32 — 7)® - 2(a> + 6)(22)
dy 10 23— 22\’ (5% + 7)(32% — 2) — (2 — 27)(2023)
do Sad + 7 (5t +7)2

dy _ 1 —1/2 $_3/2

dr —

Yo () (;xm) + (/2= 2) (20— 322)
£(r) = (3r 4+ 13) (=61 +20r1) — (1 — 3r% + 4r°) (3 + 3r?)

(3r + 13)?
F(t) = [tQ 3+ + 1)2 (4% +2t) + (¢ + £ + 1)3 (2t)] +6

gy =25 (1 +10) " 210?)

K (v) = (20— 5) - §(7v3 +10)71/3 (2107) + (70 + 10)2/3 (2)

+ 6x

dy (22 + 42 +2) (22 +2) — (22 + 27) (22 + 4)
dz (22 + 4z + 2)2

4(u +3u+4) (2u + 3)
fl(x) = (ac4 - 3302) -2 (:U3 - 51’5) (3.%'2 - 253:4) + (x3 - 5335)2 (4x3 - 63:)
2

2 = 32%) (327 - 252%) + (2* - 52") (42° — 6z

R(z) = g - (—4) (334 — a3+ 2:U> - (4m3 — 322 + 2)
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